
42056
Outer Skid Shoe

3" X 8-1/2"
3/8-16 x 1 Carriage Bolt

3/8 Washer
3/8-16 Nut

42057
Outer Skid Shoe

3" X 8-1/2"
3/8-16 x 1 Carriage Bolt

3/8 Washer
3/8-16 Nut

41567
Inner Skid Shoe

17-1/4" X 23"
Rivets

1/2-13 x 1-1/4 Carriage Bolt
1/2 Washer
1/2-13 Nut

BBA C

DD

CASE IH 2052 DRAPER HEADS (ASN CC0014710)
CASE IH 2062 DRAPER HEADS (ASN CC0015328)

NEW HOLLAND 84C DRAPER HEADS (ASN PPP001119)
MACDON 973/974 DRAPER HEADS (2006 & NEWER)

NOTE: Molded Cutterbar Skids not available at this time

41566
End Skid Shoe
11-3/4" x 15"

Rivets

41566
End Skid Shoe
11-3/4" x 15"

Rivets

120 Eastgate Drive SE
PO Box 7
Hutchinson, MN 55350

1-800-788-6483
1-320-587-2322
1-320-587-6112 (Fax)

 WWW.MAYWES.COM 

Doc #: 10187_DPAGE 1 OF 1


	Sheet1
	Drawing View1


